¢ =3x10" unjsec
# = 1027 erg-sec

N, =6 £/0*¥ /male

€ =48 ‘]O-‘OQSLL =16 ‘IEHCO"!I %)Io’7me=lo‘-27,ﬁ-m‘
k =1.ax10" ey /deg
R = 2 cal/male-eg

G= 7162 erg-cm/gm?
Ne atNIP = 2:40'%/cm?

| hewhon = 0% dynes
1fte30em pouad = 44 newt.

| /uo"" 4‘%"[0‘7‘!’72?{%/@;@02 l Ohn;:]: ?xm"(:mﬁm
€ 8.9 '/5‘2§0uf:/n£uf-mz 4/“0164 = 3770/1”3.’
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‘classical electron radivs*
*Campfan sfa-re/etyf/x’”
*Bohr radivs”

i

e%/meC? =~ 3 )0 en/ o = %4 ¢
afc= ﬁ/m‘c ~ &vjo7! cm

d.° ® ﬁ?/m,e“ =-"5‘/9- 9077 Bohr magne;‘.'an

Rydbery w'lergth’  Zp=HKc/me* =7xl0 7em/ef/ome= 10" ery /oass -

= 1737

Lecal = 4 watt-sec=4xl0"ery

lev= L6« IO-"‘ery

black body radiqtes

Cu: 2x10° ; pure H_ZO:ZzJe?;sea wates 25 ¢hm-cm

- 8pacific heat (Solid or lifvid) % 0,5 Cal fem¥/deg
linear &xpancion ( n ) < 2x16°/4¢e3

. heat conduelion (insulatsr) = 16 Z&l/:cc-cm -4a7
heat cond. (mekl) = 10(Fe, /8 1) wlfit-em <Y
heat of c_améu;fian (ﬁ»! e fuef) Q/()* Ca.//jm
haat o vagoritaftin % (0% caf /mole

© elastre moduli (seliag) 3 /6% - 18" dynefurn®

- Fensile J‘f'/?/‘\gﬂ\ Galids) ‘*/ae-/amjy,',e/cm‘- :
.S“Wf.ace:f'tf'%mian H,0 = 5D a’ynu/fm

; .&FFFU'.!‘]‘-O('}: H;LO .{Ot{: air O','z'm{)‘/_r

. . : ~2 . -
viscosiFy: (H010 ) air 2%/87 dyne-s/om™

earrh A’Gfd of pole ﬁ.f‘jduﬁ
Ma=63i09m  Re=bxtPcm
M@=2xh‘?331n =81 10°cm
Le= 40 ey fsec = Lkw]m af earth
Starlisht energy dtnsify: 10 'Zeg)émi
primary casmic fays: 1 fem/sec
disfance B moon: ¢ x/0'°Cm
distance B sun: L5x10™cm
fo center of Galpxy: 3x/0™ <m
mass of Galxy : 2x/0% am
st beturin galacdes: (0%
Ryniiers & 2000 Mpc = 10*® crr

X
< 2 oo . 1t s /e e
I mct=.SMey €/a,=26ev  vis photen = 2ev | 65(0 watls/de cm
3 ‘:7:09,,‘:.025' ev  band gap: Si:idev Ge:07ev :680 fomens=/ H’ﬁf@%’?/’t)
= | D

§ ':{@WJ%M = 2000 Tl g.= 10° cm/&::’fn3 Fe=10 d/n-e/cm‘ = [5 psi
3 My, = 1000 me | air densify = 10 °gm/jert  Scak heght = & km
S Mg, = 270 me | airat 300K Viuns = Voo ® 4007 m/5ec
S -6

T Mpuen = 2013 me | Mmean freepath (Gic NTR) * 7x(0  Cn

; Qf:\wl{w ::éBX/O cm PC (ev) :300 BF (94;,1;;-6#1) IPQ(‘IQC = 'Exlolecm
3 . 5?-\ es"\l {ec 4 Zﬁl’;‘lt/%u.ﬁ min. im;f» [Oﬁ: Zf\‘{?,Y/ym/CmL,_l ma_g :—4‘ a’é |
Lo \p FRHS |y length inairs 56 gmifemt | my =m, at 10
5 rgistivity usval Tempriive| 1 corre = 44/0” disint. /sc Mg =5
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